BRFAF

UPKAERE/DIX 31 SHEIR s TR T -2 4

I 24 R = FrE BT 185 B2RmiR | LELEH
PEIX 31 5% 1 AR—HIT 101 ZR 88.33 1383.22
PEIX 31 Sk 1 AR—HIT 102 g /7 88.33 1383.22
PHIX 31 Sk 1 RHIT 103 A 88.33 1383.22
PHIX 31 Sk 1 RHIT 104 PG 1 88.33 1383.22
PEIX 31 5% 1 AR=HIT 105 R 88.33 1383.22
PG 1X 31 Sk 1 R=HIT 106 74 88.33 1383.22
PEIX 31 5% 2 AR—HIT 201 AR 88.33 1383.22
PEIX 31 Sk 2 AR—HIT 202 P 88.33 1383.22
PHIX 31 Sk 2 RHIT 203 7R 88.33 1383.22
PHIX 31 Sk 2 RHIT 204 P4 88.33 1383.22
PEIX 31 5% 2 AR=HIT 205 A1 88.33 1383.22
PG 1X 31 Sk 2 R=HIT 206 P 88.33 1383.22
PEIX 31 5% 3 AR—HIT 301 &R 88.33 1383.22
PHIX 31 Sk 3 R =HIT 306 P4 88.33 1383.22
PHIX 31 Sk 3 R =HIT 305 7 88.33 1383.22
PHIX 31 Sk 3 RHIT 304 P4 88.33 1383.22




PHIX 31 Sk p/ 5T 303 Zx 88.33 1383.22
PEIX 31 Sk AR—HT 302 7§ 1 88.33 1383.22
P51X 31 Sk RHIG 404 7 88.33 1383.22
PEIX 31 5% RHIT 403 Z: ) 88.33 1383.22
PEIX 31 5% R—HIT 402 P ) 88.33 1383.22
PHIX 31 Sk R =T 406 P4 88.33 1383.22
PEIX 31 5% R—HIT 401 2R J7 88.54 1386.52
PEIX 31 5% RHIT 503 1 88.33 1383.22
PG 1X 31 Sk RHIG 504 4 88.33 1383.22
PEIX 31 5% AR=HIT 505 A1 88.33 1383.22
PEIX 31 5% R—HIT 502 Fg f 88.33 1383.22
PHIX 31 Sk R =T 506 P4 88.33 1383.22
PEIX 31 5% R—HIT 501 4 J 88.33 1383.22
PEIX 31 5% AR=HIT 605 #< 1 88.33 1383.22
PEIX 31 Sk AR—HT 602 P4 /1 88.33 1383.22
PEIX 31 5% RHIT 603 # 1 88.33 1383.22
PHIX 31 Sk IR =T 606 4 88.33 1383.22
PHIX 31 Sk p/ 5T 604 P4 88.33 1383.22
PEIX 31 5% R—HIT 601 A1 88.33 1383.22




